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* 1b—A —fiii HEFE (21:28)
BRES. 2ES L—R 155 AR
B V. BF4. B ¥ = 25 iy
1. £ @ @ ® ® @ M PP HE @EH HE LAY HE HE LAY
ARz 8 1.1 01 2 2 1 0 0 125 25.0 25.00 0 3.38 3.486  3.39 4.50 3.496
2518 (MN—#&) 8 1 1 0 1 2 2 1 0 0 12.5 25.0 25.0, 0| 3.38 3.486 3.39 450  3.496
B-39 (MNGE) |-
(ZOAh—AE)| -+
1 ’Eﬁ a 0 (ROAGE)| -
na 4 0 0 O0 1 0 1 0 1 0.0 0.0 0.0/ 0| 3.37 3.479| 3.40 5.33 3.483
AN 25H8 {RERIZ 12 0 2 3 1 0 2 3 O 0.0 16.6 41.6| 0| 3.37 3.462| 3.42 5.00 3.519
50i% JEAR 70 3 6 13 81517 6 2 O 4.2 12.8 31.4 0] 3.35 3.434| 3.40 4.58 3.501
LB 13 0 1 2 1 5 4 0 0 O 0.0 7.6 23.00 0] 3.36 3.466| 3.42 4.69 3.507
ARz 69 5 7 9 8131313 1 0 7.2 17.3 30.4 0| 3.35 3.432 3.41 4.63 3.506
2522 (MN—%) 45 3 6 7 3 8 10 8 0 O 6.6 20.0 355/ 0| 3.35 3.432] 3.39 453  3.486
(Zof—#%)| 24 2 1 2 5 5 3 5 1 0 8.3 12.5 20.8| 0| 3.39 3.484] 3.44 483  3.544
A TR BBR 10 (eomom) -
na 19 1 4 4 0 2 5 1 2 O 5.2 26.3 47.3] 0| 3.35 3.435| 3.38 4.42 3.480
fRix 25HA {RERIE 11 1 2 0 1 2 3 2 0 O 9.0 27.2 27.2| 0] 3.36 3.444| 3.39 4.63 3.487
51% JEAR 9 3 2 1 0 1 0 1 1 O 33.3 55.5 66.6| 0| 3.37 3.434| 3.38 3.33 3.490
LB 11 3 0 1 1 3 2 1 0 O 27.2 27.2 36.3] 0| 3.36 3.431| 3.38 4.00 3.461
ARis 8 0 0 2114 000 0.0 0.0 25.0 0 3.39 3.460 3.40 4.87 3.489
2417 (MN—#&) 3 0 0 1 0 0 2 0 0 O 0.0 0.0 33.3] 0| 3.39 3.460, 3.40 500  3.490
(ZOf—AE) 2 0 0 0 0 1 1 0 0 O 0.0 0.0 0.0/ 0| 3.40  3.494| 3.42 550  3.498
N PR ZB o0 ofte®)] 3 0o 0 1 1 0 1 0 0 0 0.0 0.0 33.3| 0| 339 3.474| 340 433  3.483
na 11 2 2 2 0 1 0 3 0 18.1 36.3 54,5/ 0| 3.32 3.387| 3.37 4.27 3.459
yEAn 2458 FRERIE
53m% JEAR 75 5 9 91312 7 10 9 1 6.6 18.6 30.6/ 0] 3.34 3.410, 3.39 4.67 3.490
LB 13 6 2 1 0 2 2 0 0 O 46.1 61.5 69.2| 1| 3.31 3.407| 3.36 2.69 3.441
ARz 5 01 01 21000 0.0 20.0 20.00 0| 3.37 3.452 3.40 4.40 3.473
2526 (MN—#&) 3 0 1 0 0 2 0 0 0 O 0.0 33.3 33.3] 0| 3.37 3452 339 400  3.458
(ZOf—AE) 2 0 0 0 1 0 1 0 0 O 0.0 0.0 0.0 0| 3.42 3.489 343 500  3.497
N ERKESE 30 (oo -
e 1 0 0 O O O o 1 0 o 0.0 0.0 0.0/ 0| 3.32 3.420| 3.32 7.00 3.420
LLIfZ 25HA REhIE 7 0 0 1 2 1 3 0 0 O 0.0 0.0 14.2| 0| 3.30 3.418| 3.35 4.85 3.455
50i% AR 6 0 0 O 0 2 1 1 2 O 0.0 0.0 0.0/ 0| 3.36 3.471| 3.39 6.50 3.497
LLIB& 82 7 17 20 11 12 4 7 1 3 8.5 29.2 53.6| 0| 3.28 3.376| 3.35 3.62 3.437
ARis 17 0 1 2 3 4 4 3 0 O 0.0 5.8 17.6| 0| 3.36 3.420| 3.39 5.00 3.480
2420 (MN—#%) 6 0 1 2 1 0 2 0 0 0 0.0 16.6 50.0, 0| 3.36 3.420 3.37 4.00 3.444
(ZOH—AE) 5 0 0 0 0 2 2 1 0 O 0.0 0.0 0.0, 0| 3.40 3.478| 342 580  3.512
5 # shBH 30| (ROMGH) 6 0 0O 0 2 2 0 2 0 O 0.0 0.0 0.0/ 0| 3.36 3.463| 339 533  3.489
e 7 0 0 4 0 O 1 2 0 O 0.0 0.0 57.1] 0| 3.30 3.392| 3.32 4.57 3.419
LLIF5 245A {RERIE 5 0 1 1 2 1 0 O O O 0.0 20.0 40.0/ 0| 3.34 3.427| 3.36 3.60 3.450
51% JEAR 4 0 2 2 3 2 3 1 1 0 0.0 14.2 28.5| 0| 3.34 3.412| 3.39 4.64 3.475
LLIB& 86 11 20 21 51011 5 1 2 12.7 36.0 60.4) 0| 3.30 3.376| 3.35 3.48 3.434
ARz 5141 5 2 2 1 0 0 0 0 80.3 90.1 94.1 7 3.27 3.357| 3.33 1.37 3.414
2612 (MN—#%) 32 28 3 0 0 1 0 0 0 O 87.5 96.8 96.8| 6| 3.27 3357 3.32 121  3.402
(oft—#%)| 12 9 1 1 1 0 0 0 0 O 75.0 83.3 91.6/ 1| 3.30 3.395 3.36 1.50  3.446
Bl BEE 40 (zoftcH) 7 4 1 1 1 0 0 0 0 O 57.1 71.4 85.7| 0| 3.28 3.359| 3.33 1.85  3.414
na 9 5 0 3 01 O O 0 O 55.5 55.5 88.8/ 0| 3.29 3.373] 3.31 2.11 3.395
fRix 26HA {RERIG 6 6 3 1 3 0 1 2 0 O 37.5 56.2 62.5| 0] 3.29 3.370| 3.32 2.93 3.405
487% SR 24 7 7 1 3 3 3 0 0 O 29.1 58.3 62.5| 1| 3.29 3.347| 3.31 2.87 3.396
L= 25 13 4 4 1 3 0 0 0O O 52.0 68.0 84.0/ 0| 3.26 3.347| 3.31 2.08 3.394
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L—R 35 5 AR

ERES. 2ESY
# 0. BFE MR HiE # = 25 < 1 55 Ty
#. 8 B © @ ® @ ®& ® @ & sE  EnY BE EE kA
AR 4 0 0 00 31000 0.0 0.0 0.0 O 5.25
2518 MN—#) 4 0 0 0 0O 3 1 0 0 0 0.0 0.0 0.0, 0 5.25
(ZOA—AT) |-
ne 2 0 1 1 0 0 0 0 0 O 0.0 50.0 100.0 O 2.50
AR 258A RELE 1 0 0 0 1 0 0O 0O 0 O 0.0 0.0 0.0 O 4.00
50i% PEZIN 4 6 4 0 1 1 2 0 0 O 42.8 71.4 714, 0 2.50
L5 7 0 0 3 2 1 1 0 0 O 0.0 0.0 428/ 0 4.00
ARix 18 4 6 2 3 1 1 1 0 0 222 555 66.6 0 2.88
2522 (MN—#%)| 14 3 5 1 3 0 1 1 0 O 21.4 57.1 64.2| 0 2.92
(oft—#%)| 4 1 1 1 0 1 0 0 0 O 25.0 50.0 75.0, 0 2.75
ne 1 0 0 1 0 0 0 O 0 O 0.0 0.0 100.00 O 3.00
Hrix 25HA REE 1 0 0 1 0 0 0 O 0 O 0.0 0.0 100.00 O 3.00
517% AR 4 0 1 0 1 1 0 1 00 0.0 25.0 25.00 0 4.50
L5 2 1 0 1 0 0 0 0 0 O 50.0 50.0 100.00 O 2.00
Al 5 0 0 0111110 0.0 0.0 0.0 O 6.00
2417 (MN—#%) 2 0 0 0 0 1 1 0 0 O 0.0 0.0 0.0, 0 5.50
(ZOft—A%) 1 0 0 0 1 0 0 0 0 O 0.0 0.0 0.0, 0 4.00
N RS o0 ofte®) 2 0o 0 0 0 0 0 1 1 0 0.0 0.0 0.0 0 7.50
ne
RAR 2458 RERIE
537% AR 12 0 2 2 4 3 1 0 0 O 0.0 16.6 33.3] O 3.91
L5 5 0 0 1 0 4 0 0 O O 0.0 0.0 20.0) O 4.60
Al 3 01 10100000 0.0 33.3 66.6 O 3.33
2526 (MN—#%) 2 0 1 1 0 0 0 0 0 O 0.0 50.0  100.0| O 2.50
(2Ot —A%) 1 0 0 0 0 1 0 0 0 O 0.0 0.0 0.0, 0 5.00
N
LI 25HA FRERIG 1 0 0 0 1 0 O O O O 0.0 0.0 0.0 O 4.00
507% R
L5 25 1 4 6 5 4 3 2 0 O 4.0 20.0 44.00 O 3.96
Ak 4 0 1 0110100 0.0 25.0 25.0 O 4.50
2420 (MN—4##) 2 0 1 0 0 1 0 0 0 O 0.0 50.0 50.0/ 0 3.50
5 # 85hHB |30 (zoftcH) 0 0 0 1 0 0 1 0 O 0.0 0.0 0.0 0 5.50
nmea 0O 1. 0 0 0 0O 0O O O 0.0 100.0 100.00 O 2.00
LI 24HA FRERIG 0O 0 0 0 0O1 0 O O 0.0 0.0 0.0 O 6.00
517% R
L5 26 3 7 4 5 5 1 1 0 O 11.5 38.4 53.8/ 0 3.34
AR 14 7 1.1 4 01 0 0 0 500 571 64.2 0 2.42
2612 (MN—#%) 7 4 1 1 1 0 0 0 0 O 57.1 71.4 85.7| 0 1.85
(oft—#%)| 4 2 0 0 1 0 1 0 0 O 50.0 50.0 50.0, 0 3.00
&R BE 40 (=ofte#®)| 3 1 0o 0 2 0 0 0 0 O 333 33.3 333 0 3.00
mea 1 0 1 0 0 0 O O 0 O 0.0 100.0 100.00 O 2.00
ARt 265H fRZIE 5 0 0 1 2 1 0 100 0.0 0.0 2000 0 4.60
48iw% AR 4 2 1 1 0 0 0 0 0 O 50.0 75.0 100.0 O 1.75
L% 6 3 2 0 1 0 0O O O O 50.0 83.3 83.3] 1 1.83
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* 1b—A —fiii HEFE (21:28)
EREES. £EHSY L—R IG5 iR
# 7 BT & AR 18 HE EEH = 1% 2i8 3E BB ) Fiy
1. £ B ©® @ ® @ ® ® @ ) % PP HE @EH HE LAY HE HE LAY
ARz
2518 (MN—A&) |-
B-39 (MNGE) |-
(ZOAh—AE)| -+
na 1 0 O 0O 0 0 0 0 O 0.0 0.0 100.0f O 3.00
e 2588 {RERIE
50i% JEAR 6 0 O 2 0 2 0 1 O 0.0 0.0 16.6| O 5.16
LLIBZ
fRix 8 1 1 1 1 0 3 0 0 125 250 375 O 4.50
2522 (MN—#%) 5 0 0 1 1.0 2 0 0O 0.0 0.0 2000 © 5.20
(ZOH—HE) 301 1 0O 0 0 1 0 O 33.3 66.6 66.6| 0 3.33
ne
fRix 25HA {RERIE 0O O 0O 0 1. 0 0 O 0.0 0.0 0.0 O 6.00
51% JEAR 0O O 1 0 0 0 0 O 0.0 0.0 0.0 O 4.00
LB
ARis
2417 (MN—#g)| -
B-19 (MNGH#) |-
(ZOA—AE) |-
N PR EE 20 (zofer -
ne
yEAn 2458 fRERIE
53i% p=Z7N 7 0 2 2 0 0 0 O 0.0 285 57.1] 0 3.28
LB 1 0 O 0 0O 0 0 O 0.0 0.0 0.0 O 5.00
ARis
2526 (MN—A&) |-
A-195 (MNGHEX)| -
(ZOA—AE) |-
e 3 0 O 1 1 0 0 1 O 0.0 0.0 0.0 O 5.66
LLIF% 25HA FRERIE
50i% AR 2 0 O 1 0O 0 0 O 0.0 0.0 50.00 O 3.50
LLIB& 11 2 1 3 1 1 1 0 O 18.1 27.2 454, 0 3.63
ARis 2 0 1 0 0100 0.0 50.0 50.0 O 4.50
2420 (MN—H#i)| -
A-90 (MNGH#)| -
5 # 85hHB |30 (zoftcH) 2 0 1 0 0 0 1 0 0 0.0 50.0 50.0 © 4.50
ne
LLIF% 24HA FRERIE
51i% Pz
LLIB& 9 2 2 2 1 1 0 0 O 22.2 44 .4 55,5/ 0 3.11
ARi5 8 4 1 1 00 1 0 O 500 625 75.0 O 2.50
2612 (MN—#%) 3 3 0 O 0 0 0 0 0| 1000 100.0 100.0/ O 1.00
(ZOM—AE) 1 0 1 0 0 0 0 O 0.0 100.0  100.0| © 2.00
&R BEE 40| (z0MtGH) 4 1 1 0 0 1 0 O 25.0 25.0 50.0/ O 3.75
na 2 1 0O 0 0 0 0 O 50.0 50.0 100.0f O 2.00
ARt 265A fREBIE
487i% PEZYN 1 0 O 0O 0 0 0 O 0.0 0.0 0.0 O 4.00
L= 6 2 3 0O 0 0 0 O 33.3 83.3 83.3] O 2.00
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